a(d cot(d))
5

=)
©
=
=
o
=
S}

T T T
—_—
Py

1072

1073

IR
3
¢

9100% Ly .! P .! P .! L

2k 3
+

-+

[y
TTTT] T T
%

*

2 3
TPlpoT (PCA t%obeamlinélf)

—=— DQM_MKFIL_TTongmal

—«— DOM_mKFit_TTNEW50

—— DQM_mkFit_TTNEW50-chi2

—— DOM_mkFit TTNEW50-dpdg
=~ —~
= IS
2 S
~ ~

< =

5 -1
310 S
3 [¢]

B O 1 TN || S

T 1S T T : EARES pen] S
: : i 1[:
il : 0.95 : :

-1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f)

1071 1

o p/p.)

,_.
<
L

: dl0 :

. : T ;

[ HEpS b + 17
0.950 : : :

—1 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


